restart

Ecua == (2 x--3 +xy(x)--2) + (x-2-p(x) +2-y(x ) -diff (y =0
Ecua:=2x° —I—xy(x)2 + (xzy(x) + 2y(x) ) (% y(x) ) =0 €))
with(DEtools) :
Tipo := odeadvisor(Ecua)
Tipo := [ [ _homogeneous, class A], exact, rational, dAlembert] )
M:: (2 .x..3 _+_x.y..2)
M:=2x3-|-xy2 A3)
Ni= (x-2:y+2-y--3)
N:=xy+2) @)
Comprobar = diff (M, y) — diff (N, x) =0
Comprobar :=0=0 )
IntMx = int(M, x)
IntMx = % X+ % x2y2 6)
SolGral = IntMx + int( (N — diff (IntMx, y)),y) =C[1]
Il 4, 1 22, 1 4
SolGral:Z?x +5xy —|—Ey=C1 @)
SolGralDos = lhs (SolGral)-2=C[1]
SolGralDos = x* + x* y2 +y4 =C, (t))

SolGralTres = x* —i-xzy(x)2 +y(x)4 =C,
SolGralTres == x" %-)czy(x)z+y(x)4=C1 )

DerSolGral == simplify(isolate(diff (SolGralTres, x), diff (y(x),x)))
X (y(x)2 +2 xz)

DerSolGral .= — y(x) = - (10)
dx y(x) (2y(x)* +2%)
DerEcua = isolate( Ecua, diff (y(x), x))
A3 2
DerEcua = d y(x)= 22x xy(x) 3 an
dx X y(x) +2y(x)
ComprobacionDos = simplify(rhs(DerSolGral) — rhs(DerEcua) ) =0
ComprobacionDos := 0 =0 (12)
restart
Ecua == (2-y(x)--2+4-y(x)--3) + (16-x--2) + (2:x-y(x) +6-x-y(x)--2)-diff (y =0
Eeua=2y(x)>+4y(x)> + 16 2 + (2 xy(x) + 6 xy(x)?) (% (x )j ~0 (13)
with(DEtools) :
Tipo := odeadvisor(Ecua)
Tipo = [ _rational] (14)
Factint == intfactor(Ecua)
Factint = x as)

EcuaFExacta == expand(Factint-lhs(Ecua)) =0

(MR



EcuaExacta :=2xy(x)2 —|-4xy()c)3 +16x° 42 (i y(x)) xzy(x) +6 (i y(x)) xzy(x)2 (16)

dx dx
i =0
(> T ipoDos := odeadvisor(EcuaExacta)
i TipoDos .= [ _exact, rational] a7
> MM :=2xy* +4x)° +16x°
i MM::4xy3-|-16x3-i-2xy2 (18)
> NN = 2xzy—i-6x2y2
i NN:=6x"1"+2xy (19)
> Comprobacion = simplify(diff (MM, y) — diff (NN, x)) =0
Comprobacion :=0=0 20)

>




